Action

PF4 Current [kA]

N
o

=
o

o

1500

1000

PF4 [Post Disruption]

500

-
=)

)
=

llllllllllllllllllll TTT lllllllllllllllllll

T T T T T T T T T

lllllll

lllllllllllllll

)

= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

T
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[ Full Action (DCPS),ILimit = 1410.6000, Max.:18(l)1.2090, End Val. 1799.2250]
L Action (idl), Max = 1799.22, End Val.= 1799.22
[_Full Action (idl), Limit = 1410.00, Max.=1801.21, En
= Shot#: 3100, Param Tree: 72 — — — — — — — — — /7 — —— -~ -~ - - -7
[ Fault Time: 2.4130908

" Faults (L1) [AT,DT]: [0.800600, 0.789564]
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E_IDL, Circular, [-0.0101845, 29.9994]
DCPS, Circular, [-0.010184482, 29.999429]
IDL, Shaped [Displaced], [-0.0101844#, 29.9994]

DCPS, Shaped [Displaced], [-0.0 4482, 29.9994
Shot #: 3100, Param Tree: 72
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